H#HfE FEANEEE No.1l DEE
1. RO % KR X, (6) 4a? + 20ab + 25b>

(1) a®+ 7ab + 6b2

. (2a+ 5b)

% (a+6b)(a+b) (7) 9a® — 42ab + 49v*

(2) a® — 4ab + 4b?
A 2
%. (3a—Tb)

% (a—2b)° (8) a2 + 8ab + 16b>
(3) a® — 6ab — 27>
. (a+ 4b)?
%. (a+3b)(a—9b) 9) a2 — b2

(4) a® — 4ab + 3b?

%. (a—10)(a+b)

. (a—0b)(a—3b) (10) a2 — 3602

(5) 2a* — 4ab — 70b*

%. (a+6b)(a—6b)

%, 2(a—7b)(a+ 5b)



R# R FEANEEE No.2DEE
1. RO % KR X, (6) 4a® 4 12ab + 95>

(1) a?+ 13ab + 3642

%, (2a+ 3b)°

%, (a+ 4b) (a + 9b) (7) 1642 — 72ab + 81b2
(2) a? —17ab + 72b>
5. (4a — 9b)?
%. (a—8b)(a—9b) (8) a2+ 16ab + 64b2
(3) a? — 2ab — 8b2
% (a+8b)°
. (a + 2b) ((I - 4b) (9) 4a2 — 25h2

(4) a?+ 12ab + 27b2

%. (2a — 5b) (2a + 5b)

%. (a+3b)(a+90) (10) a2 — 4p?

(5) 3a2 — 3ab — 2162

. (a—2b)(a+2b)

%. 3(a+8b)(a—9b)



R# R FEANEEE No.3DHEE
1. RO % KR X, (6) 4a® + 36ab + 815>

(1) a? + 16ab + 63b*

. (204 9b)

%, (a+9b) (a+Tb) (7) 4a? — 12ab + 9b2
(2) a® — 12ab + 3202
S 2
%. (2a—3b)
%. (a—8b)(a—4b) (8) 4a? — dab + b
(3) a2+ ab — 2062
AR 2
Z. (2a—0)
%. (a+5b)(a—4b) 9) a2 — 4p2

(4) a2 — 7ab+ 1062

Z. (a+2b)(a—2b)

%. (a—>5b)(a—2b) (10) a2 — 64b2

(5) 2a? + 4ab — 6b?

% (a— 8b) (a+ 8b)

%. 2(a+3b)(a—0b)



R 2E FFEREFEE No.dDFEE
1. WO EREAARE L.

(1) a?+ 10ab + 24b2

%. (a+6b)(a+4b)
(2) a® — 18ab + 81b>

% (a—9b)°

(3) a2 + 2ab — 1562

%. (a+5b)(a—3b)
(4) a2 — 3ab — 28b2

. (a—Tb) (a+4b)
(5) 4a® + 28ab — T2b?

. 4(a+9b) (a—2b)

(6) a? + 4ab + 4b*

(7) a? — 8ab + 1642

(8) a? — 4ab + 4b?

9) a? —9v?

(10) 16a> — b>

%

% (a+2b)°

. (a—2b)?

(a — 3b) (a + 3b)

(4a + b) (4a — b)



H#nfE HPFRABEE No.b DEE
1. RORE RIS L, (6) 16a2 + 56ab + 49b2

(1) a2 + 8ab + 12b2

%, (4a+T7b)°

%. (a+2b)(a+6b) (7) 4a2 — 28ab + 49b2
(2) a2 — 16ab + 63b2
%, (2a — Tb)?
%. (a—9b)(a—Tb) (8) a® — 18ab + 81b2
(3) a2 — 3ab — 18b2
AR 2
Z. (a—9b)
%. (a+3b)(a—6b) 9) a2 — 49p2

(4) a? + 14ab + 45b*

»

(a+7b) (a—Tb)

%. (a+5b)(a+90b) (10) a2 — B2

(5) 4a® — 32402

%, 4(a— 9b) (a+ 9b)



